[EERALIE ]

240 Fortran DEAX 2

BIREBEAFRAR LY — BEREX



SEIDHE

BIE DR
SEDHE

2%

E P
F—R— RN SDOAS
£RHT (BR) ORkE

vV v v v VvV Vv




B BHFERH. BREXRHCRUETEZ U TERN
ZDdMZER. ERCTOTS L%ZED THRIT D,

program error
write(*, *) 1/3
write(*, *) 1/3.0
write(*, *) 1/3D0
stop

end program error

$ gfortran -o enshu3-2 enshu3-2.f90
$ ./enshu3-2
%)
0.333333343
0.33333333333333331
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program circle
implicit none
real(8) :: r, pi
intrinsic atan

pi = 4D0 * atan(1D9)
write(*, *) 'Radius?’

read(*, *) r

write(*, '(A20, F10.4)') 'Area of Circle : ', pi*r*r

write(*, '(A20, F10.4)') 'Volume of Sphere : ', &
pi*r*r*r*4De/3D0O

end program
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$ gfortran circ.f90 -o circ
$ ./circ

Radius?

5

Area of Circle : 78.5398
Volume of Sphere : 523.5988
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real(8) :: r, pi - , ?

;;.= 4pe * atan(100) HE(EHAISI=D DRI 3.14---D0
read(*, *) v SRS oDe

write(*, '(A20, F10.4)') 'Area of Circle : ', pi*r-r

write(*, '(A20, F10.4)') 'Volumc—of Scharg™ —
pi*r*r*r+4D0/3D0
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real(8) :: r, pi

1 DOEFICDODWTES(L1EZT
B —FROZEE , TXU>TIHERLTEL
AMAZICEEUTERL)

real(8) :: r

real(8) :: pi
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X integer 47\
HEERZ  real 4734+
fEAERR  real(8) A
Y =F character 1,8\

HREEERE complex 8/\ Ak
BREEESRE complex(8) 16/ Ak
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program triangle
real(8) :: r, rad
intrinsic cos, sin
r = 4.5D0

rad = 30.0D0 * 3.14159265 / 1860.DO
write(*,*) r*cos(red)*(r + r*sin(rad))
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program triangle
implicit none
real(8) :: r, rad, pi

$ gfortran triangle.f90 -o triangle

triangle.f90:7.23:
write(*, *) r*cos(red)*(r + r*sin(rad))
1
Error: Symbol ’red’ at (1) has no IMPLICIT

type
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integer ::
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> writeX CxRR

write (*, *) 'Radian: ', rad

» FTEINREZICTHIA

menseki = 2D@ * r * cos(rad) * (r + sin(rad))/2D0
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real(8) :: r

real(8) :: information_a

real(8) :: abcl23def456ghi789

real(8) :: 345abc

real(8) :: _a
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> FREFEIENZ Fortran THIFHTIEE,

» 1)
> FEHIR sqrt
> =R sin, cos, tan, asin, acos, atan
D log, exp

> HFRERLOMNIE ST ST B AR | HAMAH B
» FIABIEE/MEDBIEC DWW TIETF R h=Sig
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intrinsic 3
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program sample2
intrinsic sqrt, exp

write(*, *) sqrt(exp(2D0) * 12D - ©.5D0)

stop
end program
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» 15]) 60ED cos
» cos(60D0 * 3.14159265D0 / 180D0)
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pi = 3.14159265358979264D0

UTDEIICGETETRODZEETED,

intrinsic atan

pi = 4D0 * atan(1D0)



SEIDHE

BIE DA
SEDHE

2%

E P
F—R— KD SDOAS
£RHT (BR) ORkE

vV v v v VvV Vv




FATE  read(*,*) BE1, B2, ..
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program circle
implicit none
real(8) :: r, pi
intrinsic atan

pi = 4D0 * atan(1DO)

write(*, *) 'Hankei?'
read(*, *) r
write(*, *) 'Menseki : ', r * pr * pi

stop
end program
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$ gfortran circ.f90 -o circ
$ ./circ

Hankei?

5

Menseki : 78.5398163397448

F—AR—FOEAR

$ ./circ
Hankei?

F—AR—FMEAR

12.25 “
Menseki : 471.435247579318
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program sample3
write(*, *) 'John', (51.0 + 63.0 + 72.0) / 3.0

write(*, *) 'Paul', (6.0 + 15.0 + 8.0) / 3.0
write(*, *) 'George', (83.0 + 76.0 + 91.0) / 3.0

write(*, *) 'Richard', (67.0 + 82.0 + 86.0) / 3.0

stop
end program

<

John 62.0000000
Paul 9.66666698
George 83.3333359
Richard 78.3333359
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program sample4
write(*, '(A10,1X,F5.2)') 'John', (51.0 + 63.0 + 72.0) / 3.0
write(*, '(A10,1X,F5.2)') 'Paul’', (6.0 + 15.0 + 8.0) / 3.0
write(*, '(A10,1X,F5.2)') 'George', (83.0 + 76.0 + 91.0) / 3.0

write(*, '(A10,1X,F5.2)') 'Richard' &
, (67.0 + 82.0 + 86.0) / 3.0
stop
end program

- |
John 62.00
Paul 9.67

George 83.33

Richard 78.33
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F10.5, F10.5, F10.5 Sl 3F10.5

A6, 14, A6, 14, A6, I4 z::> 3(A6, I4)

XFHF—2(FERPICEIR LU TERL)
'(A6, F5.2)') 'Ave ="',

write(*, (50.0 + 60.0 + 70.0) / 3.0

> '(" Ave = ", F5.2)') (50.0 + 60.0 + 70.0) / 3.0
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write(*, '(I3, Al1@, 1X, 3I4, A6, F5.2)') &

o 7N

i, 'John', 50, 60, 70, 'Ave=', (50.0 + 60.0 + 70.0)/3.0
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program sample5
100) &
, 'John', 'Math=', 50, 'Eng=', 60, 'Chem=', 70 &
, (50.0 + 60.0 + 70.0)/3.0
100) &
‘Paul’', 'Math=', 6, 'Eng=', 15, 'Chem=', 8 &
(6.0 + 15.0 + 8.0)/3.0
100) &
'George', 'Math=', 83, 'Eng=', 76, 'Chem=', 91 &
(83.9 + 76.0 + 91.0)/3.0
100) &
4, 'Richard', 'Math=', 67, 'Eng=', 82, 'Chem=', 86 &
NGO ER Y ER ) VEN
100 format(I3, Al10, 1X, 3(A6, I4), ' Ave=', F5.2)
stop
end program
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> writeXENS SR

» BIUITESZELID format>X (T{ER LR
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Radius?
100
Area of the inscribed triangle is 12990.38
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» TOUSAVERGEUTTEXRVESZED TLE

> FHES*xZTHN L

2.0 ( 3.9 + exp(4.9))

» , & . ZEII5REERIC

30,0 * 3,14159265
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